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() [u+v[*+ [[u— v =2[ul* +2[v]>
(b) W& |lu)| = ||vl, M (u+v) L (u—v).

(¢) (ulv) = jllu+v|* = fllu—v|?
WV =R[2]® R EE, Hb Rlz)®) = {f € Rlz] | deg(f) < 3}, ARESCH

(flg) = / f(2)g(x)da
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. (a) W UL, #2 V T2, B U C Uy WEW: Uy C U
(b) % Uy, Uy £ V IT206. AR (U, NUL)" = U + Uy~
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(a) % SO,(R) = {P € 0,(R)| det(P) = 1}. iEM: SO, (R) #& O, (R) HIFEE (FK
NREIR IE A AR,

(b) W T €0, (R) & =AM, WEH: T &xf M.

L GRM) BE VR 0 EIRREEN, ey, e, € V. E UK S

(a) er,... e, &V [{—4L MR IEAS 5K,

(b) MR x,y € V. (xly) = 211, (x]e:) (y]e:);
() MR x € V, |Ix|I* = 7, (xles)”.



